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QUESTION 1

Which predefined report should you use from Oracle Business Intelligence Publisher to manage the balance of accrued
supplier liabilities for a business unit? 

A. Accrual Supplier Liability Report 

B. Accrual Reconciliation Report 

C. Accrual Clearing Report 

D. Uninvoiced Receipt Accrual Report 

E. Receipt Accounting Real Time Report 

Correct Answer: B 

https://docs.oracle.com/cloud/farel12/scmcs_gs/FAPMA/FAPMA2269725.htm#FAPMA2269725 

 

QUESTION 2

Which two things must your customer check daily in order to ensure that all their purchase order transactions from that
day have been accounted for in Receipt Accounting Distribution? 

A. Review their audit receipt accrual clearing balances. 

B. Review their journal entries, including their sub-ledger accounting events and class where the charges from the
purchase orders are going to be charged to. 

C. Review their accrual balances and clear them. 

D. Review their Receipt Accounting processes that show whether any processes failed and why. 

E. Review their distributions that show the debit and credit information specific to the Receipt Accounting transaction
selected. 

Correct Answer: BC 

 

QUESTION 3

Your customer wants to run a report to review account balances for both inventory valuation and cost of goods sold.
Which two Oracle Transactional Business Intelligence reports would you run so the customer can review these
balances? 

A. Inventory Account Balances Report 

B. COGS Account Balances Report 

C. Revenue and COGS Matching Report 

D. Costing Balances Report 
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E. Inventory Valuation Report 

Correct Answer: AC 

 

 

QUESTION 4

Trade events for physical shipments are interfaced into the Cost Accounting subledger from which module? 

A. Inventory 

B. Order Management 

C. Purchasing 

D. Financial Orchestration 

E. Shipping 

Correct Answer: D 

 

QUESTION 5

Identify two characteristics of an expense pool. (Choose two.) 

A. It helps you analyze under-absorption and over-absorption of expenses that you want to capitalize onto the balance
sheet as inventory value. 

B. It is a user-defined entity that represents a grouping of expenses that you want to absorb with resource and overhead
rates. 

C. You can define the name of your expense pool, but you cannot define more than one. 

D. It is used only for analyzing gross margins on noninventory sales of services. 

Correct Answer: AB 
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